GENERAL DESCRIPTION

Paper format The paper contains six
parts.

Timing 1 hour 30 minutes.

No. of parts 6.

No. of questions 80.

Task types Multiple-choice cloze,
open cloze, error correction,
word formation, register
transfer, gapped text.

Answer format  For all parts of this paper,
candidates write their
answers on an answer
sheet.

Marks One mark is given for each
correct answer.

PAPER B3

ENGLISH

IN USE

STRUCTURE AND TASKS

PART 1

Task type Multiple-choice cloze.

and focus Emphasis on vocabulary.

Format A modified cloze test containing 15 gaps and
followed by 15 four-option multiple-choice items.

No. of Qs 15.

PART 2

Task type Open cloze.

and focus Emphasis on structure.

Format A modified cloze test containing 15 gaps.

No. of Qs 15.

PART 3

Task type Error correction.

and focus Emphasis on structure, spelling and punctuation.

Format A text containing errors as specified in the rubric
(e.g. extra incorrect words, mis-spellings,
punctuation errors) which must be identified.

No. of Qs 16.

PART 4

Task type Word formation.

and focus Emphasis on vocabulary.

Format Two short gapped texts. Candidates must form an
appropriate word to complete each gap using the
given prompt words.

No. of Qs 15.

PART 5

Task type Register transfer.

and focus Emphasis on register.

Format Two short texts dealing with the same information
but written for different purposes and in different
registers. The first text is complete while the second
is a gapped text. Candidates must complete the
gapped text.

No. of Qs 13.

PART 6

Task type Gapped text.

and focus Emphasis on cohesion and coherence.

Format A text with gaps at phrase level followed by a list of
9 options. Candidates must select the correct options
from the list to complete the text.

No. of Qs 6.
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The six parts of the
English in Use paper

B PART 1 - MULTIPLE-CHOICE CLOZE

In this part there is an emphasis on vocabulary.

Sample task and answer key: pages 33 and 37.

%
1) " Each correct answer in Part 1 receives 1 mark.

In Part 1, candidates must choose a word or phrase from a set
of four (A, B, C, D) to fill a gap in a text. This involves choosing
the answer which has the right meaning and fits both in the
local grammatical context and within the text as a whole. This
part of the paper tests knowledge of aspects of vocabulary,
such as phrases and collocations, shades of meaning, phrasal
verbs and linkers. There are 15 items plus one example.

B PART 2 - OPEN CLOZE

In this part, there is an emphasis on structure.

Sample task and answer key: pages 34 and 37.

A N
1) " Each correct answer in Part 2 receives 1 mark.

Part 2 is an open modified cloze task, consisting of a text with
15 gaps, plus one example. Candidates have to fill each gap in
the text with one word only. This part focuses on awareness
and control of structural items. Answers must be
grammatically correct at phrase and sentence level, and also
be appropriate to the meaning of the whole text. There may be
more than one word which is acceptable for a gap, but
candidates should only supply one word.

B PART 3 - ERROR CORRECTION

In this part, there is an emphasis on structure, spelling and
punctuation.

Sample task and answer key: pages 34 and 37.

AN
' " Each correct answer in Part 3 receives 1 mark.

Part 3 consists of an error correction task which will be one of
two types. In the first, candidates are required to identify
words which have been incorrectly added to a text. In the
second type, errors of spelling and punctuation in the text
have to be identified. There are 16 lines to be corrected, but up
to five of these lines may already be correct. There are
example lines, showing the kind of error to be identified and
how candidates should show their answers.
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B PART 4 - WORD FORMATION

In this part, there is an emphasis on vocabulary.

Sample task and answer key: pages 35 and 37.

AN
' " Each correct answer in Part 4 receives 1 mark.

Part 4 is designed to test awareness of word formation.
Candidates are required to supply an appropriate word,
formed from a given prompt word, to fill each of 15 gaps in
two short texts. An example is given.

B PART 5 - REGISTER TRANSFER

In this part, there is an emphasis on register.

Sample task and answer key: pages 36 and 37.

A N
." Each correct answer in Part 5 receives 1 mark.

Part 5 is designed to test awareness and control of features of
style and appropriateness. Candidates are required to use
information given in one text to fill gaps in another text. The
two texts contain the same information, but are different from
each other in terms of register, writer’s purpose, target reader,
and/or style. The vocabulary and structures used to convey the
information in the first text need to be transformed into
different but suitable expressions in order to complete the
gaps in the second text. Gaps may be completed with one or
two words. The answers must convey the right meaning, be
grammatically accurate and be stylistically appropriate in
terms of both the writer’s purpose and the text’s audience.
Content words (i.e. nouns, verbs, adjectives and adverbs), or
cognates of content words contained in the first text may not
be used in the second text. However, structural words (i.e.
conjunctions, prepositions, articles, auxiliary verbs, etc.) may
be used. There are 13 gaps to be filled plus one example.

B PART 6 - GAPPED TEXT

In this part, there is an emphasis on cohesion and coherence.

Sample task and answer key: pages 36 and 37.

A N
) " Each correct answer in Part 6 receives 1 mark.

Part 6 consists of a text from which six phrases have been
removed. These deleted phrases, together with three
additional phrases, are placed below the text in random order.
Candidates need to select the appropriate phrase for each gap
in the text. This task is designed to test awareness of discourse
features which operate within and across a text, particularly
features of cohesion and coherence.



Preparation

General

Students should be encouraged to read extensively so that
they build up a wide vocabulary and familiarity with many
uses of different structures. This should enable them to deal
with a range of lexical items and grammatical structures in a
variety of text types.

When studying for the paper, it will be useful for students
to refer to dictionaries and grammar books. However, they
should also develop strategies for operating independently of
reference books (by, for example, guessing unknown words
from the context) as they are not permitted to take
dictionaries into the exam with them.

All parts of the paper have detailed instructions and Parts 1
to 5 have examples. These should all be studied carefully so
that students know what kind of answers they are expected to
give and how they should show them on the answer sheet.

Each text in the English in Use paper has a title. Encourage
students to pay attention to this as it will indicate the main
theme of the text.

Students should read through each text carefully before
beginning to answer the questions.

Remind students to check the spelling of their answers as
incorrect spelling will lose them marks.

Also remind students to write clearly as indistinct
handwriting leads to difficulties with marking.

In Parts 1 and 6, students should mark the lozenges on the
answer sheet clearly and rub out any marks they have made if
they change their mind about an answer.

In Parts 2 to 5, there may be more than one permissible
answer for a question. However, students should only give one
answer for each question. If they give two answers, and one of
them is incorrect, they will lose the mark even if the other is
correct. If they want to change an answer, they should rub it
out or cross it out.

Students should make sure that they write their answers
on the answer sheet against the correct question number. This
is especially important if they leave some questions
unanswered.

Remind students to allow themselves enough time to
complete each part of the paper. They may make notes on the
question paper but all their answers must be transferred to
the answer sheet within the allotted time.

By part
H PART 1

When studying vocabulary in preparation for the paper,
students should pay attention to collocation, the shades of
meaning differentiating sets of similar words, and

3

Advise students to consider all the options carefully before

complementation (e.g. whether words are followed by a
certain preposition, or by a gerund or an infinitive, etc.).

deciding on their answer. Some of the options may be very
tempting, but only one will be semantically and grammatically
correct in that particular context.

H PART 2

Remind students that only one word is required for each
answer. Answers of more than one word will not earn the
mark.

Some gaps in this part can be filled by referring just to the
immediate phrase or sentence, but others will require
understanding of the paragraph or whole text.

H PART 3

Students can prepare for this part by trying to identify

errors in their own written work, or in that of other students.

Students should read the instructions carefully to find out
which of the two types of error correction task they are
required to do.

Students should study the examples clearly to make sure
they know how to show their answers on the answer sheet.
When indicating punctuation errors, they should write the
correct punctuation mark plus the word either directly before
or after it in the text. If they want to indicate that a
punctuation mark should be deleted, they should also write
the word directly before or after the incorrect mark, without
including the punctuation mark. They should never just write,
for example ‘, unattached to any words, or write ‘no comma’.
When correcting spelling, they should only write the correct
spelling of the word.

Remind students that a few lines in the text will be correct,
but there are unlikely to be more than five correct lines.
Correct lines should be indicated with a tick (/) on the answer
sheet.

B PART 4

Remind students that they need to understand the context
of each gap in the text to decide which class of word (noun,
verb, adjective or adverb) is required.

Sometimes a plural form or a specific part of a verb will be
required.

Sometimes a negative prefix will be required. There is
usually at least one word requiring a prefix in each Part 4 task,
so advise students to look out for these.

Accurate spelling is essential so remind students to check
this.

M PART 5

In this part, students are asked to manipulate vocabulary
and structures within a defined stylistic context. Any
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preparation activities which focus on alternative ways of
expressing the same ideas in different registers (formal and
informal) would be useful.

Students should read the instructions carefully so that they
understand the situation giving rise to the creation of the two
texts. They should identify the writer’s purpose and target
reader for each text, and take note of the text type which is
given above each text. Awareness of these will help them
make appropriate decisions about changes in expression.

They should never use content words, or cognates of those
words, from the first text in their answers. However, structural
words like prepositions, articles, auxiliary verbs, etc. are
permissible. The idea of the task is that students should find
new ways of expressing the information contained in the first

text.

Students should only write one or two words in their
answers. No marks will be given for answers of more than two
words.

B PART 6

In this part, students show they understand the semantic
and grammatical appropriateness of phrases within a text.
Preparation activities which draw attention to cohesion
markers within a text, or focus on how the ideas within a text
are introduced, developed, expanded, exemplified, balanced,
etc. will all be useful.

For each question, students have to choose between nine
options, three of which are never used. They should not be
misled by the distractors but look at the meaning of the text
as a whole to single out the correct phrase for each gap.
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PAPER 3: ENGLISH IN USE

Part 1 (Questions 1-15)
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PAPER 3: ENGLISH IN USE
Parts 2 and 3 (Questions 16-46)
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PAPER 3: ENGLISH IN USE
Part 4 (Questions 47-61)
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PAPER 3: ENGLISH IN USE

Parts 5 and 6 (Questions 62—-80)
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PAPER 3: ENGLISH IN USE
Answer keys

PART ONE PART TWO PART THREE
1 C 16 followed/accompanied 31 more
2 A 17 little 32 /
3 D 18 the 33 and
4 B 19 for 34 V/
5 B 20 to 35 even
6 D 21 Though/Although/Whilst/ 36 some
7 A While 37 its
8 D 22 why 38 between
9 A 23 their 39 push
10 A 24 another 40 him
1 c 25 may/might/will 41 in
12 B 26 not/never 42 long
13 A 27 out 43 during
14 D 28 off 4w v
15 C 29 so 45 far
30 being 46 all

PART FOUR PART FIVE PART SIX
47 numerous/ 62 their/his/her + own 75 1

innumerable 63 responsibility for/charge 76 A
48 replacing/replaced of/care of 77 C
49 disapproval 64 atleast 78 F
50 adviser/advisor 65 would rather/would sooner 79 B
51 combinations 66 the moment 80 H

52 distinctive

53 astonishingly
54 countless

55 informative
56 significance
57 progressively
58 resemblance
59 outstanding
60 plentiful

61 authenticity

67 being paid/earning (now)/paid
(now)/getting paid

68 spend your/fill your/occupy
your

69 must have/need/really
need/will need

70 advantage/edge/extra
advantage

71 regularly/a lot/often
72 live/stay (overnight)
73 get your/send your/have your

74 more information/additional
information

N.B. The mark scheme for Part 5 may be expanded with other appropriate answers.
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PAPER 3: ENGLISH IN USE

Answer sheet
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